50m¥E]kE Fi# 45.12 06k

50mIExRE R 44. 48 06k
50mBHE Fi& 34. 59 07k

Bt FER BRI

= FE

RHERA 2 160



K& EH A& B gl Xe

50mBEikE FiE 31.75 10§k
50mEikE R 31.05 11#K%
100mEKE Fi&E 1:11.73 094k
100mEikE R 1:11.30 094k

Bt FERERRICS VT LR
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHENRA b 225



SC
100mEXRE Fi& 1:20. 63 05#k
Bt IFEREFSICENTERD

AN
BTN E AL
)=

R AH
RERA R 30



SC
100mEKE FiE 1:26. 81 07#k
Bt IFEREFSICENTERD

AN
BTN E AL
)=

R AH
RERA 29



Ef WX = BE FZBHASC
50mBHREF FE& 34. 28
50mBHFE RE 34.17
100mBHRE Fi&E 1:15. 85
100mBRHKE R 1:16. 42

Bt FER BRI

3 FH g

RHERA LT3

07#k
08k
07#k
07#k



E® HH % B Gl SC

50m/N\2754 Fi& 36. 40 084k
50m/\32 754 R 37.67 07#k
50mEikE FE 36. 31 094k
50mEikE RIS 36.18 094k

Bt [FERERECEVTLERD
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHENRA 2~ 103



B Gl SC
50m/N\2754 Fi& 31.02 094k
50m/\32 754 R 30. 86 10#%k

100mNE2 T34 FiFE 1:09. 28 09%k
100mNE2 T34 REE 1:09. 21 09k

Bt [FERERECEVTLERD
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA 2 b 520



§x G&r
K& (BB = FIE FEASC
100mBHRAFE FE 1:03. 60 08#k
100mBRK RE 1:04. 22 084k
200mEIAAKRL— F3E 2:35.02 08#k
200mBEAARKL— R 2:34.17 084k
BT FERERRICSVTLERD
BTk =2 EZEELET

3 1 A

= FH g

RHERA L 416



E® H& = FiE FZHASC

50mBEikE FiE 33.53 09k
50mEikE R 33. 39 094k
100mEKE Fi&E 1:10.93 094k
100mEikE R 1:11.42 094k

Bt FERERRICS VT LR
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA L 414



K& nHF EE R £l SC
50mEikE FE 37.35 06k
100mEKXKE Fi&E 1:21.17 054k

Bt FERERRICS VT LR
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHENRA b 229



A
I B gl Xe
50mEikE FiE 37. 41 07#Kk
50mEXRE R 37.07 07#Kk
100mE]RE FiE 1:22.23 07#k
10 0mIEKRE R 1:21.89 074k

H3 1= [FFECEERRISH L
SEREETikWECZ & %5

R FH g
FEARA 2 355



K& iy =5 R El sc
50mEikE $E 34.50
50mBEiKE R 34.35
100mEFIkRE FiE 1:14.18
100mEXRE R 1:15.00

H3 1= [FFECEERRISH L
SEREETikWECZ & %5

= FH g

RHERA 2L 31

07#k
07#k
07#k
06k



K% EH 2 0= B ol Xe

50mBEikE FiE 32. 84 10§k
50mEikE R 32.98 104Kk
100mEKE Fi&E 1:12. 11 094k
100mEikE R 1:12. 86 094k

Bt [FERERECEVTLERD
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHENRA 2 ko 467



§x Gr
K& FH S BE FZBHASC
50m/N\2754 Fi& 32.32 10#%k
50m/\32 754 R 31.99 11#%k
200mBEAARFL— F3E 2:41.15 10K
200mEAARL— RE 2:40.77 10#%k
BT (FERRERICENTERD
S TCiHKWEC EZFEELET

0 3 1 A

= FH g

RHENRA 2 o 397



100mEKE Fi&E 1:13.46 08k

100mEikE R 1:13. 64 084k
50mBRT FFE 30. 39 08k
50mBHFE RE 30. 45 084k

Bt [FERERECEVTLERD
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHENRA b 199



K& /INEEEMN B +H SC
50mEikE FE 38.92 074k
50mEikE RIS 37.78 084k
200mEAAKRFL— F3E 3:01.24 074k
200mfEIAARL— R 3:01.48 074k
BT (FERRERICENTERD
S TCiHKWEC EZFEELET

0 3 1 A

= FH g

RHENRA 2~ 186



KEZ #HE LDE R En SC
50mEikE FE 36. 27 094k
50mEikE RIS 35.76 094k
200mBEAARFL— F3E 2:47.21 094k
200mEIAARL— R 2:44.82 10#%k
BT (FERRERICENTERD
S TCiHKWEC EZFEELET

0 3 1 A

= FH g

RHERA b 241



KX FBHEHE BiIE FTEASC

50mBERBT FFE 31. 61 07#k
100mBEHRAFE FE 1:09. 76 07#k
100mBREF RE 1:10. 22 074k

Bt FERERRICS VT LR
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA 2 81



K& [RHEH MX BiIE FTEASC
50mEikE FE 40. 30 06k
100mEKXKE Fi&E 1:31.33 044K

Bt [FERRRECHVTLEED
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA b 45



Ef® = HE 3 o sScC
50mEKE FiE EiE
100mBEXKE FiE ZEiE

Bt FERERRICS VT LR
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA b 134



K% BrE i R En SC

50mEikE FiE 46. 37 07#k
50mEikE RE 46. 24 07%k
50mE]RE FE o4. 44 064k

Bt FER BRI

3 FH g

RHERA 62



R4 ik B iR AEASC
50mEikE FE 41. 86
50mEikE RIS 42. 19
50mExRE FiE 48. 75
50m3ExKE RIS 48. 93

10#%
10#k
09%k
08k

Bt FERERRICS VT LR
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHENRA 2~ 109



E2 EH BX R Gl SC

50m/N\2754 Fi& 45. 58 06k
50m/\32 754 R 44. 95 07#k
50mEikE FiE 53. 55 06 %K

Bt FER BRI

3 FH g

RHERA L T5



E# MH S FiE FZBASC
50mE]RE FE 44. 64
50m3ExKE RIS 44. 93
50mBHRF F& 35.36
5 0mBHfE RIE 35. 31

Bt FER BRI

3 FH g

RHERA 2L 14

113k
10#k
113k
1%k



K2 EH 2 & F EIHASC

50m/I\2 754 RE 37.10 12#%
50mEXRE FiE 37.178 131k
50mEXE R 38. 26 12#%

Bt FER BRI

3 FH g

RHERA 2170



K& hgE FRat E AHASC
50mIExRE T 49. 33 05k

200mfAANA FL— FE 3:11.06 07#k

Bt FERRRLICHNTLERED
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA T2



K& £ % 3 o SC
50mEikE FE 46. 43 074k
50mBHRHFE FiE 41. 81 07#k

Bt [FERRRECHVTLEED
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA b 48



K thx EiE R En SC
50mEikE FE 44. 83
50mEikE RIS 45. 48
50mExRE FiE 51.53
50m3ExKE RIS 50. 93

08k
08k
07#k
07#k

Bt FERERRICS VT LR
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA T8



K& WA FHE F ABEASC
50mEXE FiE 42. 84 06k

74 1= (i#ﬁ‘;nﬂnﬂﬁ% 1))

nafi—CIiK L\T"

| =

ZHEWTE
ELET
43 E 18 24 H
ERBALSI VIV HRE
R FH s
BRAKAD R 33

on|
1:||||



K2 BRI ET E AEASC
50mnNE2 T34 Fi& 46. 25 03#k
50mPkE Fi 48. 88 05k

Bt [FERRRECHVTLEED
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA 20



o & G
K2 =T EA R g SC
50mEikE FiE 37. 44 07#Kk
50mEXRE R 37.95 07#Kk
100mE]RE FiE 1:23.56 065Kk
10 0mIEKRE R 1:23. 64 06%k

YA EREGT 24 S A
SR Tk & &

= FH g

RHERA 62



K FH X F ABEASC
50mEXE F&E 48.73 06
50mPkE Fi 57.75 04k

Bt [FERRRECHVTLEED
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA 2 36



K& (#E TE fiE AEASC
50mEXE Fi& 47.97 06k
50m¥ixRE FiE 52. 35 07#k
5 0m¥FikE R KA

Bt FER BRI

3 FH g

RHERA L 44



K& /INEEEMN B +H SC
50mEikE FE 38.92 074k
50mEikE RIS 37.78 084k
200mEAAKRFL— F3E 3:01.24 074k
200mfEIAARL— R 3:01.48 074k
BT (FERRERICENTERD
S TCiHKWEC EZFEELET

0 3 1 A

= FH g

BRERAF:0



3 F SC
50mEikE FE 45. 34
50mEikE RIS 46. 87
50mExRE FiE 50. 85
50m3ExKE RIS 51.17

08k
07#k
07#k
07#k

Bt FERERRICS VT LR
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA 2 33



Ef AH HRK BB HZBHARSC
5O0mEIXRE Fi& 48. 72 06k
50mEIKXRE R 49. 42 05k

Bt [FERRRECHVTLEED
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA 213



K2 E  #E E ABHEASC
50mEXE F&E 47.57 00

74 1= (i#ﬁ‘;nﬂnﬂﬁ% 1))

nafi—CIiK L\T"

| =

“HLTE

FELET
TM3IE 1A 24H

BERRASII7977H2
2R FH

RRERA

on|
1:||||



§ Gr
K% EHhHEZT B +H S C
50mE]KE FE 49.78 05#%k

74 1= (i#ﬁ‘;nﬂnﬂﬁ% 1))

nafi—CIiK L\T"

| =

ZHEWTE
ELET
43 E 18 24 H
ERBALSI VIV HRE
R FH s
KA R 6

on|
1:||||



